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OO000000000000 0 .sql> Oselect ascii(a) a,ascii(a)
a,ascii(0) zero,ascii( ) space from dual.a a zero space---------
——————————————————————————— 659748322chr0 00 0O,00000
[J [ .sql> Oselect chr(54740) zhao,chr(65) chr65 from dual.zh ¢c-- -
[1 a3.concat J [0 J OO O OO O .sgl> Oselect concat(010-,88888888)||
02300000 fromdual. O 0O O O

[ —=mmmmmm - 010-88888888[1 234.initcap 1 D D O O O OO
OO0000000000 0O .sgl> Oselect initcap(smith) upp from
dual.upp----- smith5.instr(cl,c2i) OO0 OO0 O0O0O0OO0O
OO0,000000000000.c0000000c200
OJo0d0o0oigoooooo,00o0yjooooo,0n

[J 1sgl> Oselect instr(oracle traning,ra,1,2) instring from
dual.instring--------- 96.length O OO OO U OO O O .sql> Oselect
name,length(name),addr,length(addr),sal,length(to_char(sal)) from
.nchar_tst.name length(name) addr length(addr) sal
length(to_char(sal))------ -=-----===== —=m o
----------------------------- OO003000000 69999.99
/Tlower U0 O OO,000000O0 O Osgl> Oselect
lower(aabbccdd)aabbccdd from

dual.aabbccdd-------- aabbccdd8.upper I O O OO ,000 00O
[ OO O O sql> Oselect upper(aabbcecdd) upper from



dual.upper-------- aabbccdd 9.rpadl] lpad (LI OO U 00 )rpad U O [
O0O000OIlpad D00 OO0 OO O sgl> Oselect
Ipad(rpad(gao,10,*),17,*)from
dual.lpad(rpad(gao,1----------------- FaddFRRgao* ] [] [ [
O O0*0 00 10.0trimO rtrimitrim O 0 0 0 O 0O O O O O rtrim
OO0000000 0O O sql> Oselect Itrim(rtrim( gao gian jing , ), )
from dual.Itrim(rtrim(------------- gao gian jing
11.substr(string,start,count) [ I 00 00,0 startl] I ,00 count

[J sql> Oselect substr(13088888888,3,8) from

dual.substr(-------- 0888888812.replace(string,sl1,s2)string L1 [1 [ [
J000000s10000000s20000000sgl>
Oselect replace(he love you,he,i) from
dual.replace(heloveyou,he,i)----------=--=---mmmmmee - | love you
WBsoundex U O OO OOODOOODOOOOOOODOSsgl>
create table tablel(xm varchar(8)).sql> insert into tablel
values(weather).sgl> insert into tablel values(wether).sql> insert into
tablel values(gao).sgl> Oselect xm from tablel where
soundex(xm)=soundex(weather).xm-------- weatherwether14.trim(
sfrom string)leading U0 U 00 O O O O trailing O U O O O O O O
O000,000000 15abs0000 00O OO O sqgl> Oselect
abs(100),abs(-100) from dual.abs(100) abs(-100)---------

--------- 100 10016.acos I [0 I 0O OO O [ sgl> Oselect acos(-1) from
dual.acos(-1)--------- 3.141592717.asin 0 O 0O O O O O sgl>
Oselect asin(0.5) from dual.asin(0.5)--------- 52359878 18.atan [ [
00000000 O sql> Oselect atan(1) from
dual.atan(1)--------- 7853981619.ceill D 00D OO DOOOO



[ 00 0O O O sgl> Oselect ceil(3.1415927) from
dual.ceil(3.1415927)--------------- 420.cos0 0 00O OOOO
[1 OJ sgl> Oselect cos(-3.1415927) from
dual.cos(-3.1415927)---------------- 12lcosh0 OO0 O0OOd
[1 [J sgl> Oselect cosh(20) from

dual.cosh(20)--------- 24258259822 exp 0 O O O O Oeldnd O
[1 sql> Oselect exp(2),exp(1) from dual.exp(2) exp(1)---------
————————— 7.3890561 2.718281823.floor 0 O 0 O O O O O O sgl>
Oselect floor(2345.67) from dual.floor(2345.67)--------------
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